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(3) fu T 1 g A OF TR R O A, R oo Iwm-wmE W sifEa e 9w ) ol s dmoem fr oo R
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5. ymH AW wfl T oem @ R o smemw w @ sfea w5 #) Iwe-mw A fin o R 3|

6. B¥t TETI ¥ AF EWA 2

7. @8 vea o gfteo gfe ¥ fafis g & g sw-mE w sfEn w0 IE F, AR W6 WO § 6y
ifem et F wgen g9 faawm swm-ww d R §

8. ¥ ¥ Wil T #) TH-TE U W0 F 92 aW s F I W e IN-uEh SdiaE #@ € 2  3wE sw
A ghem g @ sm o wgEf )

9. =1 Fm & fom w, vlew e & o # wom #)

10. wem I & fore zve .

Tfie wE-uat # yefiem g B e wew W & B zoe e smem)

(i) yIF v & fou an d=feus 3w ) Iofiean 3o v@F A F fog e e o e 3w F fore w2 e fa
T 3 @ ve-fagrd vz F w9 § @@ smom)

(i) o2 *r ofean v @ afus I 3@ R, @ W TR I A SOm, quf B e I A | uw Iw ad e g,
e oft 3v v ¥ fon agmeem @ 3 T w1 2w fa smom)

(iii) af2 Tefizam g #18 w wa TE fEm S R, sufq Iefiean g I A fen s R, A 3\ wE F forg W zus
- fem wmom)
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Note : English version of the instructions is printed on the back cover of this Booklet.
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1. T uEE w1 A2 F 9. 6 9w T SR

= TRgg T B %@ ffafen § A e
was B B 7

(a) AfFEF 37
(b} CO,
(c) TTRERI® A=A

(d) TUATA

2. frl u A A v Y F T o A1 g elR

30 2 fz ¥ for Jaed o A T T 39k
% T a9 vewrgie A Ffew e ol
AAEA e | Iyaia fem T whem &
aT Tt 1 3ifem @1 R

(a) TEA
(b} T
fc) e

{d) T%e

3. e geE she H 9 SR B (RBCs)

# v Fem W § ol 3R R
et (sftm 1 g faeem) § agFd
¥ 2, @ RBCs 1 F01 87

(a) RBCs T st

(b) RBCs && st afr we sndfi

{c) RBCs fags sndf

(d) RBCs % =1 § %I wiada 78 2
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4. 73 TN wrfaa fim % den 3 frfafaa 4 9

FH-91 U TE TEH B?

(@) Tom § fafel ¥ wem ¥ fag o ER
2

(b) Tom I % grmdaw A wEEE A 2

(c) fom s ¥ IR 9 TE % A
pH ) THH (neutralize) Fdl 2|

(@ Fe @m % pH B giE @ ¢ 3
s UgHl TR g S
2

5. WM AT I (FEE 120/80 mmig T

213 ‘get’ M ) T 8

(@) F: e ggam aiv frerg fasfa @
(b} swm: Frema fafa ofv fem @
(c) TN e U oiv afee fauifa o

(d} o from g st R o W

6. #r wfs fael @l TFA (cliff) F W @

Form & o fawhie ¥ 58 F FR IR
Tfaf g ¥ ¥ IR wh Ho9
340 m/s &, A @ Tz A A K g8
forereft 27

(@ 1700 m
(b) 170 m
(cj 85 m

(d) 850 m
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1. A sprinter feels cramps and pain in the

thigh muscles after a run. This is due
to accumulation of

{a) lactic acid
(b) CO,
fc) pyruvic acid

{(d) ethanol

2. A leaf was plucked from a plant on

a sunny day and kept for 2 minutes
in boiling water, It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the
final colour of the leaf after the test?
fa] Colourless

(b) Green

fc} Blue

{d) White

3. If the red blood cells (RBCs) of human

blood are isolated and are diluted in
normal saline (an isotonic solution to
blood), what will happen to the RBCs?

fa) The RBCs will swell
{b) The RBCs will swell and burst
{c) The RBCs will shrink

(d] No change in the diameters of
the RBCs

JNBY-D-GNL/59A

4. Which one of the following statements
regarding bile secreted by liver is not
correct?

{a) Bile contains enzymes for digestion
of lipids.

b} Bile facilitates emulsification of
fats.

fc) Bile neutralizes the acidic pH of
the food coming from stomach.

(d) Bile makes the pH of the food
alkaline and facilitates action of
pancreatic enzymes,

5. The blood pressure of a normal human
being is found to be 120/80 mmHg.
These “numbers’ represent the blood
pressure at

{a) ventricular contraction and
ventricular relaxation, respectively

fb) ventricular relaxation and ventri-
cular contraction, respectively

fc) auricular contraction and auricular
relaxation, respectively

fd} ventricular contraction and
auricular contraction, respectively

6. A person bummed a firecracker in front of
a cliff and heard its echo 5s after it
burst. The distance of the cliff from
the person, if the speed of the sound
is 340 m/s, is close to

fa} 1700 m
(b} 170 m
fc; 85 m

{d) 850 m

[PT.0.
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7. TEEHH 3R MR $H & offf & ar 1§

frafafgd wudl w fo=m Hifs

1. ﬂEﬂ-ﬁ‘-’#{, = R TEE T (signal)
1 ufafda F &

2. WIGHGH, tafi F R F6a § qRafie

T R

3. W, 9if® T # @l 4 iafda
B

4. iR, 0 R A AR § o
Bl

g # A -] oA Th B
(@ 133
() 13N 4
¢ 233
(d) 234

8. 100 W % T% farq @v@ &t f@ # 10 @2

T § e W # 9o gm 3 i § e
I @ FW A @@ FH Iwd?
(192 = 1 kWh)

fa) 3-00

(b) 108

fc) 216

(d) 033

9. THEAR =W % WY @ W ° 1fd F1 9

fodt F01 % fru n-wma T F a8 w0
frefid = 27

(a) FHF 3Fwa am

{b} EH e T
(c) I8 T Fi Mg
(d) Feeht sdvaa =

JNBY-D-GNL/S59A

10. 10 cm WiEE g a@ 74 &) awar foefl 37

fal 01 T3
{b} 1 BT
fc) 10 SR
{d} 100 BT

11. 9 % Wity f@q & 9@ ® waElm

Trafafan Fet w o fifw

1. MgO %1 % 9 &= 2|

2, % ggd AfufEn T e R
3. T 3 vEW 3 B R
I 4 ¥ FH-8 FoR 7 §7

fa) Fad 1 3N 2

(b) Had 1 33

fc) AR 2 33

(d 1,233

12. §1 @ 7 siwfEa & Hay 4 FR-2 w6

7
CaOflg) + H,O{l) — Ca (OH), (ag) + &1
|, e g3 @ oW o g ¥
for formn s 21

2. TP F U v fEn F g F
fou foran <men 2

3. #@W W CaCO, #H Taell Wad TN F
i Ca0 a1y # fagwm co, & &y W
e & sl Fwa 2

4. g IO AW A J FewTn TRGEE
TS FAFE AR A B |

2 fog M e w1 WM W ER I g

(a) FadA 1 3 4

(b) 23 4

¢ 233

(dj 1,334
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7. Consider the following statements about 10. The power of a lens of focal length

the microphone and the speaker of 10 cm is
a mobile phone : {a} 0-1 dioptre
1. The microphone converts sound to (b) 1 dioptre

a mechanical signal. fej 10 dioptre
2. The microphone converts sound to (d) 100 dioptre

an electrical signal. )
& 11. Consider the following statements

3. The speaker converts a mechanical regarding burning of magnesium ribbon

signal to sound. in air :
4. The speaker converts an electrical 1. White powder of MgO is formed.
signal to sound. 2. It is an example of combustion
Which of the statements given above are reaction.
correct? 3. Heat and light are produced.
Which of the statements given above are
fal 1 and 3 correct?
{b) 1 and 4 fa} 1 and 2 only
b) 1 and 3 onl
() 2 and 3 (b} 1 and 3 only
fc) 2 and 3 only
fd) 2 and 4 fd) 1,2 and 3
8. A 100 W electric bulb is used for 12. Which of the follom.ng st.atemcnts with
‘ regard to the reaction given below are
10 hours a day. How many units of
X correct?
electrical energy are consumed by the
bulb in 3 days? (I unit = 1 kWh) CaO(s) + H,0(l) - Ca(OH), (aq) + Heat
fa) 300 . Quicklime is used for white-
washing of walls,
b} 1-08 . _
2. The solution of slaked lime is used
fc] 216 for whitewashing of walls.
@ 033 3. CaO reacts slowly with CO, in
air to form a thin layer of CaCO,
on walls,

9. The area under the velocity-time graph
for a particle moving in a straight line
with uniform acceleration gives

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound.

Select the correct answer using the code

fa) its average velocity given below,
(b) its net displacement (@ 1 and 4 only
. . (b) 2 and 4
(¢} the distance travelled by it () 2 and 3
(d) its average speed {d 1,3 and 4
JNBY-D-GNL/59A 5 [P.T.O.
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13. SN W ¥8 EE T & T (heating) & 15. W@ ¥ U ¥ an #, Prefafa g%

way & Pefafan # @ F9-2 w91 9@ 17 (clues) T fa=m Hifse
1. NO %1% 47 (fume) FrFam 2| L R Fh v e et e
_ e ¥ w9 # A AR
2. VIO ¥ 2. T oA % B A A AR - am
3. R A Al 71 @ W= 2 (division) 21
4. T NO, T ¥ 3R F fw wye s 3. T W H FA GG I 2:39
AU (thermal decomposition) %I Hﬁﬂﬁﬁﬁﬂlgaﬂ%]
@33‘3“?' fin T ERA F AMR W T A YgEH
Hifer
2 fow M g2 F WM W @ IR IR .
@ 132 (b) Y WH
fc) AHR
b) 2,334 (d) wHETe
) 1,334 16. Frfafiaa § 4 fre tsa-agg H dend dETEn
q ot 27
(@) ¥ad2 34 (o) ShfEm, 3y R, FAieH, T
(b) TAWTE, Y W, FATH, QA T2
(c) 3Nfewm, 3y W, FieH, TE 1T
14. Frefofan § @ FR-d sitwdmm il T (d) BT, Y TG, FAH, HeRIG
2
17. T 3 o A A gqm B 3 e = 9w
(a) @R TS A fafim sfiell, Ta:, dides, TREH, BAF
st gfere A A faRw foen ) e Frefafaa
7 8 i ot 1§ oo fen?
(b) WE [ad Gl
() WRTR, AeTe, H, AU
() FFaif (Rancidity) (b) BT, T, 3w, g
(c) Firiem, sm, ¥, aferg
(d) <& (d) T, amm, sty wm, afeTg
JNBY-D-GNL/59A 6
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13. Which of the following statements with 15. Consider the following clues about a

regard to heating of lead nitrate powder State of India :

over a flame are correct? 1. Itis known as ‘land of red river and
blue hills’.

1. Brown fumes of NO are released. 2. It contains three of the six

physiographic divisions of India.

2. Colourless O, gas is released. 3. It covers about 2:39 percent of

total areas of the country.
3. It is an example of oxidation

i Identify the State on the basis of the
reaction.

given clues.

4. It is an example of thermal fa) Karnataka

decomposition used for the {b) Andhra Pradesh

production of NO, gas. {c) Assam

(d} Chhattisgarh

Select the correct answer using the code

' bel 16. Which of the following sets of States
given below.

shares boundary with Telangana?

fa) Odisha, Andhra Pradesh,
(@ 1 and 2 : Kamataka, Maharashtra

{b) Chhattisgarh, Andhra Pradesh,
(b) 2,3 and 4 Karnataka, Madhya Pradesh

fc) Odisha, Andhra Pradesh,
¢/ 1,3 and 4 Karnataka, Madhya Pradesh

(d) Chhattisgarh, Andhra Pradesh,
(d] 2 and 4 only Kamnataka, Maharashtra

17. Rani told her friends that last year she

did boating in four different lakes,

namely, Loktak, Barapani, Kolleru and

14. Which one of the following is not an Pulicat. Which of the following States
oxidation reaction? did she visit?

{a) Manipur, Meghalaya, Kerala,

fa) Rusting of iron Tamil Nadu
{b) Manipur, Meghalaya, Andhra
(b) Opening of soda bottle Pradesh, Tamil Nadu
{c) Mizoram, Assam, Kerala,
{c} Rancidity Tamil Nadu
(d) Mizoram, Assam, Andhra Pradesh,
{d} Combustion Tamil Nadu
JNBY-D-GNL/S59A 7 [ P.T.O.
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18. 2011 # FPAT % e, FH=fafaa § 3

FH-H/FA-2 FoA 7 2/E7

1. Y =hE, S Fad e v # Ty foa
& g1, 98 TR TE 2

2. FW 9 R IR HiuF f Ag * A,
st foet o v T3 @6 g 9g 3N
fora 1 wFan @, F |ER W @2

T fiw T gz = owEm e I g
(@) Fad 1

(b) Fad 2

fe) 13273

[d @M 1AAE 2

19. WA & FAY: fhad qda 3N weeg 9 3 ¥

AV F-1a [ B7
(@ 1377
() 236
¢ 235
(d 335

20, f=feflan 4 A FA- Rl geredifa 1 =i

Chcik:c il Y

(o) wm wim f A3 ghe, omefd 4 stfve
B

(b) wem wht A il 3fg
() R-fd &

(d) SN F IR W

JNBY-D-GNL/59A

21, F=fafEs § 4 #9-49 fifesl swfou w9 @

o9 € 9 § wERal wd & iR s

FAEF] TE AN (appreciation  of
currency) T 27

(a) TaemEFr TeEEnE SR Wi i
(b) TFEAEH TeF R iz i

(c) FFER TR B s fremwrd
s Fifa

d) Tl Mfw M s fawmd
T fifa

22. TER TN A9 ¥ FH & w5 few =

HHaH & T FEd 87
f@p (= fam =) sfem (Crowding

out)
fb) (Mt FEm #1) 7@ (Crowding in)
{c) Tm =g (Pump priming)

{d) gl (Dumping)

23, Fefafgs ¥ 8§ FR-m/#E9-8, Hfa smEm

F1/% =T 287
1. /|9 TsE-aa W Afo] avg F
2. THW 3 T ' R | o

3. Ffl @ dutafy Hfegl ot wriE
zh fesmga =

= few M0 2 1 wam =S I g
fa) FaA 1 R 2

(b) “Had 2 3l 3

) 1,23M3

(d) *ad 3
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18. According to the Census 2011, which of
the following statements is/are correct?

1. A person who can only read but
cannot write, is not literate.

2. A person aged seven years and
above, who can both read and
write with understanding in any
language is treated as literate.

Select the correct answer using the code
given below,

fa) 1 only

{b) 2 only

() Both 1 and 2

(d} Neither 1 nor 2

19. The Tropic of Cancer passes through how
many coastal and landlocked States
of India, respectively?

fa) 1 and 7
{b) 2 and 6
fc) 2 and 5

(d} 3 and 5

20. Which one of the following situations can
lead to inflation?

fa) Rapid growth of aggregate demand
outweighing supply

(b) Sluggish growth of aggregate
demand

fc) Reduction in the money supply

fd) Higher levels of unemployment

JNBY-D-GNL/59A

21. Which of the following policies help

to raise interest rate unambiguously
and thereby lead to appreciation of
currency?

a) Expansionary fiscal and monetary
policy

{b) Contractionary fiscal and monetary
policy

(c) Contractionary fiscal policy and
expansionary monetary policy

(d) Contractionary monetary policy
and expansionary fiscal policy

22. The contraction of private investment

spending due to deficit spending by the
Government is called

(a) crowding out
(b) crowding in
(c) pump priming

(d) dumping

23. Which among the following is/are the

objective/objectives of the NITI Aayog?

1. Imposing policies  on the
States/UTs

2. Allocation of funds at National and
State levels

3. Design strategies and long-term
policies and programme frame-
works

Select the correct answer using the code
given below,

fa) 1 and 2 only
fb) 2 and 3 only
fe} 1,2 and 3
{d) 3 only

[P.T.O.
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24. Tafim wed smfy & anum w wifs wf =afs

I9M F@ (MPCE) % &esd 3 e % qiarem
# fawie e gr1 A M e

(a) TTEFSTETEN GhHfd

(b) dgER wiifa
(c) =Te wfifa
(d) e afy

25, Fefiflgd & @ FR-m/FR-3, W T

fawm favm (NSDM) #1/% Ju-Rvg 8/27

1. HeTE wfdem

2. BYZIRE U9

3. TEWAHE WufE G F AN I3
(leveraging)

N v gz 1 @M = wd I iy

() F 1

(b) Fad 2

€ 1,233

(d) Faa 2 3 3

26. POSHAN M # #mifAe @ ¥ fiu

faffas 4 & FR-f w6/ s
AT T B/
. e ¥ ggEl & fag oim-aem

HEEA (inter-sectoral convergence)

2. wieensn 3R F= A IS GG (real
time) 3 ¢ A FHA T F fg
PRI (1CT) 1 W@m

4 féu T 2 F1 WM w® wd I gy

(@) Fad 1

(b) Fad 2

fc) 1323

(d I 1dAA 2

JNBY-D-GNL/59A

27. ¥4 § IoNU-o@ (writ of certiorari) Wi}

& o fefafes 3 @ FR-d wd /o
Hfad 2737

1. @ v @ G s B i
s T weeEl % sitEn Y e
FA TR Y F i w50 s
TR & 3 s w9 8 1 #:0 F
F453 B

2. @ wftww @ wftEd 3 i %
o v fapn 24

TR R 1 Fe F1 wEam = @ 3w i

(@) Fa4 1

{b) Fa 2

fcj 132

(d @ 13dTId2

28. T ¥ Wra % &0 g@ Amld 3 gl

=rde’ am 8 fave e # e #@ #@
arew faam a?

(@) P THo Telo W

(b) = Fo o ArARFWH
fc) =EH 3o TWo @e
(d) =AM M50 Ho WA

29. 7 @ 7= a7 [F F AGF B 27

(a) T8 TaErd a9
(b) o HETER
fc} 3TE SATHE Al

(d) Y= TS
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24. The computation of poverty in terms
of Monthly Per Capita Consumption
Expenditure {MPCE) based on the Mixed
Reference Period was recommended
by the

a) Lakdawala Comrmittee
{b) Tendulkar Committee
{c) Dandekar Committee
{d) Alagh Committee

25. Which of the following is/are the sub-
mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training
2. Overseas employment
3. Leveraging of public infrastructure

Select the correct answer using the code
given below.

fa) 1 only
{b} 2 only
fcj 1,2 and 3

{d) 2 and 3 only

26. Which of the following strategies is/are
adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
hetter service delivery

2. Use of technology (ICT) for real-time
growth monitoring of women and
children

Select the correct answer using the code
given below.

fa) 1 only

{b) 2 only

fc} Both 1 and 2
{d) Neither 1 nor 2

JNBY-D-GNL/59A

11

27. Which of the following conditions is/are

necessary for the issue of a writ of
certiorari in India?

1. There should be a tribunal or an
officer having legal authority to
determine  questions  affecting
rights of subjects and having a duty
to act judicially.

2.  Such tribunal or officer has acted
without jurisdiction.

Select the correct answer using the code
given below.

{aj 1 only
{b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

28. Who among the following Chief Justices

of India ordered the constitution of
a Special Bench called ‘Social Justice
Bench’?

{a} Justice H, L. Dattu
(b} Justice K. G. Balakrishnan
{c} Justice R. M. Lodha

{d) Justice Y. K. Sabharwal

29. Who among the following is the author

of the book, Bandi Jivarn ?
{a) Rash Behari Bose

(b} Veer Savarkar

{c) Aruna Asaf Ali

{d} Sachindranath Sanyal

[P.T.O.
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30. 1937 ¥ 3 T H, Wi W FhW 33. e MR fesmAm e F mem g-wm A

frafafaa @ @ #R-8 A T 4 TFa T frerfataa 4 & #9-8 Q) Tl g 27
gl Udl (single largest party) ¥ ¥ 7
Hmﬁ?ﬁﬂﬁiﬂ? fa) 421 3 erat
@) e st o (b) WEFE 3 Mt
fc) FE 3 Y

(b) aran iR gfym o aE

{c) =& 3N 37 (@) Fom A e

(d) ¥rEm S AE 34, Frafifs § @ el e WEA (dual
control structure) 97l THATA ngafs ad

31. Fmafafaa Fu w fa=m i . - R
MR fo= ¥ F A FA F 9. gYN 93 fa) % ol gfere 7
ek (b) HHH TTHH
adt aem A A f sl A
2. Fd # T F Am A afeen F (d) F0 SN e 7
aq-rg .
e 32 Ao - Y B T T fchnie
(a) Fad 1 @ e
(b) *ad 2 ) T
{c) 132 () m
[d A3 1A 2 @
32. Wiw F fafim =t A1 w7l qm FefRem 36. Frefafaa 1 & fra 2w 6 Bede 99 @1
H’ﬁﬁ B FH-H wﬂﬁgﬂ‘%ﬂﬂﬁ & T (Chevrons) &7
(@ WM W GER FY A AR (@) wEfmm
() T % fren v & amen (b) = iEeiEE
(c) @R : Ww B YWD R (c) WIS
(d T . fma 6 e § amen (@ Toa=
JNBY-D-GNL/S9A 12
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30. In the election held in 1937, in which
two provinces was the Indian National
Congress not able to emerge as the
single largest party?

(a) Punjab and Sind

(b) Assam and North-West Frontier
Province

{¢) Punjab and Assam
(d) Assam and Madras

31. Consider the following statements :

After forming the Indian National Army,
Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War
in Japanese camp

2. introduced a women's detachment
named after the Rani of Jhansi

Which of the statements given above
isfare correct?

{a} 1 only

(b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

32. Which one of the following pairs denoting
various forms of ‘Bhakti’ is not correctly
matched?

{a) Saguna : Belief in Gods with
attributes

(b} Nirguna : Belief in Gods without
attributes

(c) Alvars : Believed in devotion of
Shakti

{d) Nayanars : Believed in devotion of
Shiva

JNBY-D-GNL/59A
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33. Which two rivers flow in the region

between Gulbarga and Vijayanagara
Hampi?

fa} Narmada and Godavari
{b) Mahanadi and Godavari
fe) Kaveri and Periyar

(d) Krishna and Tungabhadra

34. Which of the following is the only

paramilitary force with a dual control
structure?

fa) Central Reserve Police Force
{b) Assam Rifles
{c) Indo-Tibetan Border Police

{d) Central Industrial Security Force

35, Which one of the following is an ethnic

community of Assam?
(a) Bhil

(b} Gond

{c) Ahom

(d} Adi

36. The Chevrons is the name of the cricket

team of which one of the following
countries?

fa} Australia
(b} The Netherlands
() Ireland

{d) Zimbabwe

[ P.T.O.
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37. Anfifean @ ww MU il i m%ﬁwﬁ%ﬁaﬂ

¥ 59 Wi T 3§ B me
(a) FET ¥ 3am

(b) FTERS I TEHA A

(c) +TgA AW THA I
(d) Fh T R

38, T ¥ ¥, 9 2022 § s fagm # A

TR &1 TTHehd] 8T 27
(a) TR TR

(b) W Tho TR
(c) AW T

(d) @R fafam

39. i o 2 xgfean & fom witwl & wRed am

(reflex arc}ﬁ%ﬁﬁﬁ%%lﬁﬁﬁ?ﬁﬂﬂﬁﬁ

FH-A g, Yead 99 B w@F w9 @

Frefia s 87

fa) TR — FEd 3 — Ferey A et =
— Wi — W [ — B

(b} WE — wadt R — wier —
1 ftd =R — = =i — FEw

(c) T& — e =i — Werey B Rt =i
— "I A — FAH

(d) TE — & A — afers — w39
R — FRiR

40, UFHRA TN ¥} TR W ¥ Rw

frfafea 3 @ PR-m afed 37
(a) NaCl

{b} KCl

(c) oA

(d) SR

JNBY-D-GNL/59A

41, F39fd e § RNA F feme v 27

{e) Wﬁﬁm
(b) A Foh I TR

(c) sk, FRHEA, THOH, FadTF
AR igEe T

(d) F=%, FNEEE, gEEhe, hadas
R UG

42. T8 U, Igawh faswsdes (intercalary

meristern) ¥4 &l W @@ g &7
(a) 3

(b) T F U4

fc)

(d} Wie-=m

43. N4l A 5@ & Fegd 9o F g awem o

YHR F af@s Fask gt 21 fiefaiaa 3 3
FH-T IR FaF AEd R §
a1 87

{a} e (Tracheid)

(b) eI (Vessel)

fc) ST Ygds (Xylem parenchyma)

(d) SIS FE (Xylem fibre)

https://www.pygonline.com



37. Cheetahs, brought from Namibia, were
introduced in India to which one of
the following National Parks?

fa} Kaziranga National Park

(b} Keoladeo Ghana National Park
{c/ Keibul Lamjao National Park
{d] Kuno National Park

38. Who among the following is not a
recipient of the Nobel Prize in Physics
in 20227

{a) Alain Aspect
{b} John F. Clauser
{e) Klaus Hasselmann

{d) Anton Zeilinger

39. Reflex arcs are evolved in animals for
quick and efficient responses. Which
one of the following sequences correctly
represents a reflex arc?

fa} Receptor—Sensory neuron—Relay
neuron in spinal cord—Brain—
Motor neuron—Effector

{b) Receptor—Sensory neuron—Brain
—Relay neuron in spinal cord
—Motor neuron—Effector

fc) Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

(d) Receptor—Motor  neuron—Brain
—Sensory neuron—Effector

40, Which one of the following is essential
for thyreid gland to make thyroxin?

faj NaCl

(b} KCI

{c) Cholesterol
(d) lodine

JNBY-D-GNL/59A

41, In plant cells, RNA is present in

(a)

(b)

fc}

(d)

cytoplasm only

nuclei and cytoplasm only

nuclei, cytoplasm, mitochondria,
chloroplast and  endoplasmic
reticulum

nuclei, cytoplasm, mitochondna,
chloroplast and ribosomes

42. In grasses, intercalary meristem is
usually located at

(a)

(b)

fc)

(d)

root tip

lateral sides of stem

base of leaves

shoot tip

43. Xylem is a type of complex tissue in
plants for upward conduction of water,
Which one of the following xylem tissues
consists of living cells?

(a)

(b)

(c)

(d)

Tracheid

Vessel

Xylem parenchyma

Xylem fibre

[P.T.0.
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44. 11 Q 22 Q ¥ 33 Q ¥y T @A 48. 12 m/s F 914 4 1fd W @ & FNF 3F

v wd F@fm ) TR g R A R 39 I B 6 m/s? F T A 2
T aen B7 FF AR F AR FR A+ U 2 s =1 omw
T B 9% TR ¥ 98 FR IR 94 W
@ 66 Q ﬁrd:f?%? B ™
b 220 @) 12 m
) 12 Q (b) 24 m
dj 6Q {c) 36 m
({d) 48 m

45, A 9 frg-amefd ® @ fepem @
(red live wire) ¥ F1a F|RA TR (black 49. -3 TER ¥ AEEE w1 AR

neutral wire) F #9 rms. foEm qued 1 27

(potential difference) fFe g 27 P —— g —

{aj 160 V T F A

(b} 220V (b) W FEHE R TOHNEH 30 H
RIS _

{c) 300V )

@ 410 v (c):i?mmsaﬁzu?ﬂ&aﬁmw

d) wfem wge o weriE o
46. TEgeR w0 R R @ Fom: fF w “‘fla

nufE g 87

) Tfiehr Hera ¥R fawe 50. Frffas o w fEr i

(b} foEEd v ATk gee wifia TEF 0 ¥ A F T FA T

(¢) v frEs ik gomm 1. [Hy0") 3l % TEW/AME (volume) 3
gfg Bt 2

(d) e T s e 2. ifi st B 7 R frern R

3. wa § 3 oit-oit fyemn =g

47. AR 3R wHE T I § B H-A/FA-A T A 2R
() 7 3 F: ST o argwee A § @ 1,2 %3
(b) g A s sy 3R R A # (b) Fa@ 1 R 2
() T A AN el B & () ¥ 3
() a1 H 2 v €A € (@) F9 2 M3
JNBY-D-GNL/59A 16
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44. Three resistors of resistances 11 Q 22 Q
and 33 Q are connected in parallel.
Their equivalent resistance is equal to

(@ 66 Q
b) 22 Q
) 12 Q

(d) 6Q

45. The r.m.s. potential difference between
the red live wire and black neutral wire
in Indian domestic electric supply is

fa) 160 V
(b) 220V
fc) 300V

(d) 410V

46. The hydrogen bomb and the uranium
bomb are based, respectively on

{fa) nuclear fusion and fission
{b} fission and thermonuclear fusion
{c) geothermal fission and fusion

(d) geothermal fusion and fission

47. Sound and light waves are

{a) respectively longitudinal and
transverse in air

(b} respectively transverse and
longitudinal in air

{c) both longitudinal in air

{d) both transverse in air

JNBY-D-GNL/59A

48. A car moving with a speed of 12 m/s
is subjected to brakes which produces
a deceleration of 6 m/sz. The car takes
2s to stop after the application of
brakes. What is the distance covered
by the car after the application of
brakes?

fa} 12 m
(b} 24 m
fc¢j 36 m
{d} 48 m
49. What is the chemical composition of
a soda-acid type fire extinguisher?

(a) Solution of sodium hydrogen
carbonate and sulfuric acid

{b} Solution of sodium carbonate and
sulfuric acid

c) Solution of carbon dioxide and
sulfuric acid

{d) Solution of scdium chloride and
sulfuric acid

80. Consider the following statements :

While diluting concentrated nitric acid
solution

1. the concentration of [H;0"] ions/
volume increases

2. water must be added slowly to
concentrated acid

3. acid must be added slowly to water

Which of the statements given above
is/are correct?

fa@) 1,2 and 3
fb) 1 and 2 only
{c) 3 only

{d} 2 and 3 only

[P.T.O.
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51. fou M el % ferw pH #1 wd #w frefefaa

A qFR-A 37

() FH < g &1 ™ < ew wiw Wi <

{th

(b) ﬁamﬁﬁM<ﬁ<m’rﬁ<ﬂq\

EARS: |

(c} 94 F1 W < T < Fh < e 37w
Afifirn

(d) 9 F @ < Fh < T < Frer 9w
arfifirn

52, WEHw wiEw % fou ffafga § @ -
wE E 87

(a) T= UgfifEm F gamm afad s 21

(b) TeAfEm, agfrm siv fnfiftem 3
gl F T R 1 a2

() @@= Uffam wd tHe s
S e Fole W 3w Al 2|

(d) 7’ SR 3AM A W B

53. e d@ Feefl SGwn (vellow  sooty
flame) % WY eTd1 2| THF FRO 2

(a) FR A FRIA F1 U@ FA gl R

(b) i TEF A B

(c) T reafers agfd A 2

(d) TR AR wew A syed feme
Bl 2

JNBY-D-GNL/59A

54. Fe,0, ! Ugfifmm & @y afufEan & fo
i & @ F9-3 oA wd &

1. 78 ‘uwige sifufEn’ & w9 & g 2

2. 393 FH H WA dfcgn-maeA F foo
e < R

3. Ughfam g aiedism 0% & w9 d
Fd Fl R

4, afufFm € g w 1fid Fe ol Al
T 2|

A fow T e 1 W R T W g
(@ 132
(b) 133
) 234

@ 134

55. Tl 3 W fim A @ i (Stewart
Island), & 3% = (Bay of Plenty) 3l

T 9 (Hawke Bay) % w90 % a1 & samn
fadh 3 foFm 2w =1 wmw fen?

(a} ERIE
(b) FrefeEn
(c) =Ieheis

(d) A&
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51. Which one of the following is the correct
order of pH for the given substances?

(a) Coffee < Lemon juice < Milk of

magnesia < Blood

(b) Milk of magnesia < Blood < Coffee
< Lemon juice

{¢) Lemon juice < Blood < Coffee < Milk
of magnesia

(d) Lemon juice < Coffee < Blood < Milk
of magnesia

52. Which one of the following is nrot true
for anodizing process?

fa) 1t makes aluminium corrosion

resistant.

(b} Metals like aluminium, titanium
and magnesium can be anodized.

fc) Clean aluminium article is the
anode and oxygen gas is evolved at

the cathode.

(d} It is used in aircraft industry.

53. Naphthalene burns with a yellow sooty
flame. This is because

fa) carbon to hydrogen ratio is low
b} there is incomplete combustion
(c) there is excess supply of air

{d) of presence of
nitrogen and sulfur

impurities of

JNBY-D-GNL/59A
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54. Which of the following statements are
true for the reaction of Fe,O0; with
aluminium?

1. It is known as the ‘thermite
reaction’,

2. The heat evolved is used for
welding purpose.

3. Aluminium metal acts as an

oxidizing agent.

4. Molten Fe and Al are formed at the
end of the reaction.

Select the correct answer using the code
given below.

(@) 1 and 2
(b) 1 and 3
fc) 2 and 4

{d) 1 and 4

55. Vicky told his friends about his visit
to Stewart Island, Bay of Plenty and
Hawke Bay. Which country did Vicky
visit?
fa} Canada
(b} Australia
fc] New Zealand

{d) Ireland

[ P.T.O.
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56. wa fag § wfi e fan fovma wel @ 59. &1 F gH-I F Wy gofem Fifse i

YAV F ) DA 1 @R aR ght % 9 iy o W oW R wd I
I .
(a) @ TFe, T3 THR, I AR
-1 -1
(b) = Fen, e 2, @ A (Ram) Guie))
A. fau sy feam 1. 29 qan
(c) e Fben, Fqa d R, §AE F FEE B st AT o 2 22 st
() = feen, gord =1 v, e C. fag ¥ Ram 3. 2 %l
D. g Ay ged feqw 4. 22 W
2

57. A F15 ufEm A qF F R @ R, @A m D
¥ 7 W feyd wedl 1 9 W @ am? @ A B C D

(@) TEATTOS, HEGL, WG, 91 )y A~ B C D

o
—
4
]

(b) VAT, FAR, T2, TG
g A B C D

[
N
o

fc) YL, TS, WYL, 921
{d) A

o]

N
—
w o

(d} HHYL, TS, 9241, HPTelYl

60, fren T gm @ 2020-2021 % fau

58. ffafaa # A frm usg =1 Im-<fim faen 4 A YEdA Aviem gEEE (PGI)

Hattus fawn 27 frafafas @ @ frm Tw /dm T=-83 1 A
i wf= A ks Tt 27

(a) TGS
fa) &

(b) T .
(b} TE

(c) nfem (¢} TEE T 3 g

(d) BHETE (d) =Eme

JNBY-D-GNL/59A 20

https://www.pygonline.com




56. Manav is planning to visit all UNESCO
World Heritage Sites in Delhi. He will be
visiting

faj Red Fort, Qutab Minar, Jama
Masjid
fb) Red Fort, India Gate, Qutab Minar

fc) Red Fort, Qutab Minar, Humayun
Tomb

{d] Red Fort, Humayun Tomb, India
Gate

57. What will be the correct sequence of
cities on the bank of river Ganga if
someone moves from west to east?
fa} Prayagraj, Kanpur, Bhagalpur,

Patna

(b) Prayagraj,
Bhagalpur

Kanpur, Patna,
{c) Kanpur, Prayagraj, Bhagalpur,
Patna

(dj Kanpur, Prayagraj, Patna,

Bhagalpur

58. Which one among the following States

has the longest extension in north-

south direction?
fa} Jharkhand
(b} Telangana
fc) Odisha

{d) Chhattisgarh

JNBY-D-GNL/59A

59. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-II
(Day} (Date)

A. World Wetlands Day 1. 26 July

B. International Tiger Day 2. 22 April
C. World Water Day 3. 2 February
D. International Mother 4, 22 March
Earth Day
Code :
fa) A B C D

) A B C D
@) A B C D
3

d A B C D

]
-+
e
()

60. Which one of the following States/UTs
is mot among the top five in the
Performance Grading Index (PGI),
published by the Ministry of Education
for the year 2020-20217?

fa) Kerala
(b) Punjab
fc) NCT of Delhi

{d) Chandigarh

[P.T.O.
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61. f=fafaa ®omi w faam $ifsw i sficeh 9 63. Fefafaa § A #9-m/8R-3 Fuw 58 3/

eI 1. fasta i o Tm am s dz
(Tomb of Sand) YA TH TEER
3 3fag fen sifint, Rdws ik fafar & o S ATt g9 ¥ @ e vrdm s i
FUT ARAT TG gErE 1 1992 §F 39 ferelt ¢ Teell Te R
vt R Jer o o o 1998 @ 2. @ w6 ds, it ¥ SRR ween
A% T 2001 T IER T fbew g m%mmgﬂwm
91¥ F e F w9 § F ) wndl Ry fopm )
7 3% FFT AT qE #
ﬁrﬁﬁamm%&w#wmﬁgg 19 e 0 e W el I e
foar man ) (a) FF 1
(b) Fad 2
C/CERGIEIG] (c) 1 3R 2
(d) A1 AT d 2
(b) aERT TEHH
64, TEE W WI@ F @Al gwRw, & R
fiefm  d=-3-3= AY™  (bilateral
fe) T e military-to-military exercise) 2, aoft T
B 4 v 3R Feafafias § @ frg 2w % fem
(d) 3T qE adl % st fgn man?
fal =UH
fb) TEHfIm
(c) M
62, UN 2023 o ®ReH & S(EE-ed (d) IR

(venue) fr=fafaa 3§ 4 F-a1 27
65. qxwhlia 44 & for wam g Fraforfas & @
o8 U 1 T R w2

afintea, go Ho
@ fa) I, Jfem anfE | QAT =47 9@
ppg— (b) E{T W e wa (subsidy) T2H
() T 3R W&y N W AW @ # gy
(c) ¥ fewh A
(d) sl 73 ffy sqEE (CRR) §
(@ = o FT
JNBY-D-GNL/59A 22
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61. Consider the following statements and
identify the actress :

She 1s a renowned film actress, director
and producer, and an accomplished
Indian classical dancer. She was
conferred the Padma Shri in 1992 and
has served as the Head of Central Board
for Film Certification from 1998 to 2001.
In recognition to her exemplary lifetime
contribution to Indian Cinema, she
was honoured with the prestigious
Dadasaheb Phalke Award.

{a) Vyjayanthimala

(b) Waheeda Rehman

(c) Mala Sinha

{d) Asha Parekh

62. Which one of the following is the venue
of the UN 2023 Water Conference?

{a) Washington, DC

(b) New York

{c) San Diego

{d) New Delhi

JNBY-D-GNL/59A
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63. Which of the following statements is/are

correct?

1. Tomb of Sand, written by Geetanjali
Shree, is the first book originally
written in any Indian language to
win the International Booker Prize.

2. Tomb of Sand is the first novel
translated from Hindi to be given
the International Booker Prize.

Select the correct answer using the code
given below.

fa) 1 only

{b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

64. The eighth edition of the Exercise Garuda

Shakti, a bilateral military-to-military
exercise, was conducted recently
between the special forces of India and

fa} Japan
{b} Indonesia
{¢) Bhutan

{d) Myanmar

65. Which one of the following is a measure

that can be used by the Government
for combatting inflation?

{a} Increasing the non-planned
expenditure on defence, police, etc.

(b} Providing more subsidies on
exports

{c) Increasing the rate of interest on
savings and fixed deposits

{d) Reduction in the cash reserve
ratio (CRR)

[P.T.O.
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66. TG F5a T A Hia e F1 1 wed §7 69. F=fafEd A & =H-|1/#9-9, Turs @

T A (PMSSY) #1/% 329 3/87

a) 3rEhfd (Deflation) 1. FiaF @R tEe da1e ) 9=y

7 4 SEger] F g EE
(b} TEHIfIG 721 (Stagflation) 0 < e A i wded T
% o aeA e W wn
Devaluati
fc) HIHeHA (Devaluation) 2 b \ ﬁmﬂﬁ;ﬁa‘q
{d} Ti't"fi[Recession] gﬁmaﬁﬁgﬁ;m
A1 fou M gz = wm R wE@ Tt
67. T wg-wwel WH gEEE  (MPl) A (@) Fad 1 33
FrfaRen & 8 #9-1 g¥as aftifers 27
. 3
g (b) Fad 2 3N 3
(b) W @ (c) Fad 1
CEERE: It (d 1,23N3

(d) v =fF 33

70. 0 ¥ fra uorifes A@ 3 oeifes @ ¥
w9 1 ardm T F=HE F 9 T ok |

68. Wil e fasy Iearel 1 i # ofteddl % HIF T FR 39 Wl 1 ggns fem et
FT0T B AT SUSTI H 1 FE 7
AT 0o
@ (@) 98

(b) TTEATHS a0
{c) T A=

(d) w=Fa SN

JNBY-D-GNL/59A

(b} Elo do Mo TR

{c) THo Fo Tith

(d] FEARAR TEE
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66. The sustained decrease in the general
price level is called as

{a) deflation

(b) stagflation

{c) devaluation

{d] recession

67. Which one of the following indicaters
is  included in the National
Multidimensional Poverty Index (MPI)?

{a) Years of schooling

(b} Literacy rate

fc) Life expectancy

(d) Per capita income

68. The unemployment that occurs due to
changes in the technology or in the
demand for particular products is called

fa) frictional unemployment

(b} structural unemployment

(c) cyclical unemployment

(d} disguised unemployment

JNBY-D-GNL/G9A

69. Which of the following is/are the
objective/objectives of the Pradhan
Mantri Swasthya Suraksha Yojana
(PMSSY)?

1. Correcting regional imbalances in
the availability of tertiary health
care services

2. Providing wuniversal access to
public  health  services and
universal immunization

3. Augmenting facilities for quality

medical education in the country

Select the correct answer using the code
given below.

{a) 1 and 3 only
(b) 2 and 3 only
{c} 1 only

(d) 1,2 and 3

70. Who among the following political leaders
suggested the dissolution of the Indian
National Congress as a political
organization and its replacement by a
Lok Sevak Sangh?

{a) Vallabhbhai Patel
{b) Dr. B. R. Ambedkar
fc) M. K. Gandhi

{d] Jawaharlal Nehru

| P.T.O.
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TL.

72.

R, wgw Ty wifa fwm § R o
(all-woman contingent) FI 99 F qTEN
fae & men 2w ¥ m fm few A B
uRefer fan mrn?

{a) AR

(b) ¥sH

) T

(d) Hfimm

ffafn § 3 #9-m, SWAYAM TR =1
Trem T 7

(a) difem sgrEEm

(b) T ARAR

() T F T F o s wfeast
TR

d) faim = ¥ ¥R H ¥ g f@
Erers /e forn <1 ek 2

73, Fricfas & A Fw-m fvm/wiwm R

AR % N A 27

(a) T=A favm

{b) TSI faum

(c) TEA FirER wErafE ERER g

(d) v, FTER i FerE =5 fawm

JNBY-D-GNL/59A

74. Trfafla 4 @ B e & dfum € qiad

st & adh W feh o ¥ s
HAERR Uftyg ) W F0 w1 e
WeH e R, s ergfe st @
T srgafa A 7d 37

(a) HE(UE T F1 TS99
(b) T 1 TPYTA
(c) HFR-T=Y gfiwg

fd) “ma #} gge

75. I A=ferF ufewg ¥, frefafes § @ 2R3

T /99 T3 -47 withfera #7

(@) TGS, IW weu, ghATON, demE, WA
3 i

(b) TN, Yo, fEEEe W, TeE
T TeyH 8 R

fc) I YW, IWES, YwE, TN TH
N L]

(d} IEE, I W, fumE ww, wWE
T gfamn

76. T WEH gR gfewRa dger R urm

(notion of kinship) Fafafias & ¥ s
HIeTH § Han €9 A yie 37

(a) 2@ A T TR (identification)
(b) i Herl F) IR
{c] e T

panegyrics)

(d) Tl sitn {ﬁ?ﬁﬂ (sculpture)

{inscriptional

https.//www.pyqgonline.com



71. India 1s the first country in the world
to deploy an all-woman contingent to
a UN Peacekeeping Mission. In which
country did this mission operate?
(@) Liberia
{b) Sudan
fc) Burundi

{d] Croatia

72. Which one among the following is not
a part of the SWAYAM programme?

faj Video lectures
(b} Classroom lectures

fe) Online discussion forum for
clearing doubts

{d) Specially prepared material that
can be downloaded/printed

73. Which one among the following
Departments/Authorities is not under
the Ministry of Home Affairs?

{a) The Department of States

(b) The Department of Official
Language

(¢ The National Authority Chemical
Weapons Convention

(d] The Department of Jammu,
Kashmir and Ladakh Affairs

JNBY-D-GNL/59A

74. Who amoeong the following is given
discretionary powers under the Fifth
Schedule of the Constitution of India
to set up a Tribes Advisory Council in
a State which has Scheduled Tribes but
not Scheduled Areas? '

fa) The Governor of the concerned
State

{b) The President of India
{c) The Inter-State Council

(d) The Parliament of India

76. Which of the following States/UTs are
included in the Northern Zonal Council?

{a) Uttarakhand, Uttar  Pradesh,
Haryana, Punjab, Jammu and
Kashmir

{b) Haryana, Punjab, Himachal
Pradesh, Rajasthan and NCT of
Delhi

(¢} Uttar Pradesh, Uttarakhand,
Punjab, Haryana and Rajasthan

(d) Uttarakhand, Uttar  Pradesh,
Himachal Pradesh, Punjab and
Haryana

76. The notion of kinship projected by
the Kushana rulers is best evidenced
through which of the following?

{a) Their identification with deities
(b} Grants to religious institutions
fc} Inscriptional panegyrics

(d) Coins and sculpture

(P.T.0.
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77. YR W@ § frafiaa @ @ i 9 % wv

e

(a) %A afan

(b) drged T aftg @t (elder nuns)
(c) Tl 92 (status) B afe wfend
(d) g w9 @ Freefm afend

78. Tz A% few WA F R wE@ A 1914

% gemerae § ¥ Wl ) e 6 A
(@) A T IR
(b) TN FHE
(c) THo o ITH
(d) fiFEmE wE

79. YR T-0US1 gg 1 gwifn Fwfafaa | @

formek gm0 i ofi?

(a) H HlY

(b) T HY

(c) Fema  EHF
Wadgaon)

(d) HreETs gy

{Convention  of

80. I @R (battle) F A8 Fa13L, A FravER

& T A 1741 3 39 F B
(a) & T F werd
(b) HTeT F ST
fe) fere A e
{d) ST (Changanassery) $i @21
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81. ffefa 3 & fvm fadie & Fm iR F=

FIf ¥ g 3 UF wAEesR WRER %
W st (overlord) % faeg &maa $7

fa) ™N 3@ (Rampa Rebellion),
1879-1880

(b) T f4ER (Gudem Uprising), 1886

fc} T faze (Rampa  Rebellion),
1922-1924

{d) ST GIE T9Y (Telangana Armed
Struggle), 1946-1951

82. f¥4 2w 4 FIFA fau ¥ (qm) w0 wfis o

e &7
fa) FEH
(b) FTHIA
(c) T
(d) A

83. 3 ¥ FN Wg I=wm, fud aF I

(City of Joy) F1 TGH 87

{a) @ F7eTE (Larry Collins)

(b) SIfFE AR (Dominique Lapierre)
fc) ¥=ard fFafam (Rudyard Kipling)

(d) W% et (Mark Tully)

g84. 7 B fd  wfm gfewm  od

(Entrepreneurial Vision category) 7
HYF Ty Wi FEEn F 9 2022 IEw
A% 2 Hd WA (Champions of the
Earth Award) 8 g9if3a fn mar 27

(a) 3193

(b) Sl T
(c) T < T
(d) afiE TR
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77. Who among the following were referred 81. In which one of the following revolts
to as the Theris’ in ancient India? did the Koya and Konda tribal chiefs
rise against the local overlord from

(a) Respected women a Mansabdar family?

(b) Elder nuns in Buddhism fa) The Rampa Rebellion, 1879-1880
(¢/ Women denied the Bhikkhuni {b} The Gudem Uprising, 1886
status

{c) The Rampa Rebellion, 1922-1924
{d} Women expelled from the Buddhist

Sangha {dl The Telangana Armed Struggle,
1946-1951
78. Which member of the Servants of India -
Society founded the Seva Samiti at 82. Which country won the FIFA World Cup
Allahabad in 1914? (Men) for maximum number of times?
{a) Shri Ram Bajpai fa} Argentina
(b) Hriday Nath Kunzru {b} Brazil
{c) 8. G. Vaze {c} France
{d} Spain

{d) Srinivas Shastri

83. Who among the following is the author of

79. The First Anglo-Maratha War was the famous novel, City of Joy ?

concluded by which one of the

following? fa) Larry Collins

fa} The Treaty of Surat fb} Dominique Lapierre
(b} The Treaty of Purandar fc¢j Rudyard Kipling

fc) The Convention of Wadgaon {d} Mark Tully

{d) The Treaty of Salbai
84, Who among the following is honoured

with the UN Environment Programme’s
80. Name the battle in which the Travancore 2022 Champions of the Earth Award in
King defeated the Dutch in 1741. the Entreprenecurial Vision category?

fa) The Battle of Porto Novo {a) Ela Bhatt

(b The Battle of Colachel {b) Amt Dasgupta

{c) The Battle of Pollilore {c) Purnima Devi Barman

(d) The Battle of Changanassery {d) Vanshika Parmar
JNBY-D-GNL/59A 29 [ P.T.O.
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85. W@ # G20 www H fam-ayg Tgie
T A T yE-TF TE-TF R
w2l A g &7

(a) HETITT
(b) HeET-39ATg
fc) FHT

(d) e

86. @ Y& I AFAR-UH N H
RE-ATA AMfiF T T s #1641
s fmer, 2022 ¥ @ omdl Sew =
(Nepal Army Battle School), A A
FEifaE fF T w1 W snm F AW =

27

(a) wHif
(b) o wift
fc) F& 34H

(d) T

87. 3f ffm mwg @@ (GMT) 3 10:00 a.m. 2,
A 90° E MR W F1 T BF1IY

fa) 5:00 a.m.
{b) 4:00 a.m.
fe) 3:00 pm.

{d) 4:.00 p.m.
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88, Fmafafas 4 ¥ frm me-mpp = Ml 1 (gas
p]anets]' Fg I R, HE 9 LeRCRRE Tohl
7%, 74 o frai A w77

(a) fl”lﬂ, Wﬁ’ ﬁm{"s W
(b) e, Lo, Jep, A
{c) T!Tﬁ, IiTIF‘T, Wﬁr 5@‘{"

(d) =3, TR, TR, I

89, frf wa1 % wan i Fafafaa v w
foram o

1. 3 g 91, M ¥R gfe % fm-fim
Srqurel @ & §

2. T gs § dem, whewifEE s sdR
T T SO A

3. a3 g AR WM
3 ffEa BFn s e R

# W faEmmd F AR W P F TR
e

(a) FARG (Alluvial)
(b) TRUE (Laterite)
fc) % (Arid)

(d) FTefl (Black)
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85. The theme of India’s G20 Presidency
Vasudhaiva Kutumbakam’ or ‘One
Earth-One Family-One Future' is drawn
from the

(@) Maha Purana
{b) Maha Upanishad
fc} Rig Veda
(d) Smnti

86. The 16th edition of Indo-Nepal annual
joint training exercise in jungle warfare
and counterterrorism operations was
held in December 2022 at Nepal Army

Battle Schoel, Saljhandi. What is the
name of this exercise?

(a) Sampriti
(b) Mitra Shakti
{c} Yudh Abhyas

{d) Surya Kiran

87. If it i1s 10:00 a.m. at Greenwich Mean
Time {GMT), then what will be the time
at 90° E longitude?

fal 5:00 a.m.
() 4:00 a.m.
{c) 3:00 p.m.

(dj 4:00 p.m.

JNBY-D-GNL/59A

88. Which of the following groups of planets

is termed as ‘gas planets’ as they are
composed primarily of lighter ices,
liquids and gases?

(@) Mars, Jupiter, Neptune, Uranus

(b} Jupiter, Uranus, Neptune, Saturn

{¢} Saturn, Mars, Jupiter, Neptune

{d) Neptune, Saturn, Mars, Uranus

89. Consider the following characteristics of

a soil type :

1. These soils consist of wvarious
proportions of sand, silt and clay.

2. These soils contain adequate
proportions of potash, phosphoric
acid and lime.

3. These soils can be further classified
on the basis of their age.

Identify the type of soil on the basis of
the given characteristics.

fa} Alluvial

(b} Laterite

(c) Arid

(d) Black

[P.T.O.
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90. Ffafas wudl w famm Fifs 3in = fag m

2 F T T A I A

1. fFdi @ frE 2 § 99, FEen @
TFeE o e W ImEm fEe
I & fere R <t 2

2. U T FW AR W W9 aEe F fon
o oA R, S oeE A
T A ¢, T8 T (spins) 3
Tﬁ[turllsjm%, a9 ﬁqumm
Bl &

T2
(a) F 1 8E 8 g #2698 T 2
(b) F4F 2 TR T T 1w AR

fc) =M FuA GE B AW FUR 2, T 1 A
ST FA B

(d) T FE TE L R FE 2, A1 H
ST T8 Fa §

91. fhy 7 3 =1 fowan =7 7= 27

fq) @Er@, 99 i FofR, faee W,
REIL

(b) TEME, T IR FIER, T, FRAmn

(c) @@, ¥ 3 Fwr, gemE, ghamn,
NELOIE

(d) wE@, s s FwvdR, femee W,

JNBY-D-GNL/S9A
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92, WA ¥ WEHMENNHAl (SGI) ¥ Hay #

frfafiaa #§ ¥ 29 -m Fo w6 T 37

(a) SGI, &R % §ea fafu aemesr am
2l

(b) sGl, W w1 fdas fafy afiwd g
2l

(c) SGI ¥l 9 UF qifaufis e B

(d) whmea # Fgfe wffy g sar =
frer forn s 21

93. Tafafad # 4 fve uftfs § 90 a1 © w2@

TE d 27

(a) @ TEl B

(b) WaTh IuR-ga wifd
{c) WTEA wfifd

(d) sgfea et o srgfea sEefadt &
o -waHt wfufd

94, WA F NI & et % way & Ffolad 3

Y HH-91 w4 78 76 87

(@) % FF@ T, vgul fEifE @R
RERGRUT

(b} Tyl % Pt 9ug ot TS @ @
-85 # fym-awet ¥ feite
weet g for e 2)

(c) Tafs ™ 1 R ofgg ¥ Feifae
ey Tifde T B B

(d) wa wEmfm 59 g0 e
wfefafies agfa =1 9em frm T R
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90. Consider the following statements and
identify the correct answer using the
code given below :

1. In a thermal power station, fuels
such as oil, coal or natural gas are
used to generate electricity.

2. Fuels are burned to heat water and
turn it into steam, which goes
through a turbine, which spins and
turns, generating electricity.

Code :

(a) Statement 1 is correct but
statement 2 is not correct

(b) Statement 2 is  correct but
statement 1 is not correct

{cj Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does not explain
statement 1

91. Indus river basin is extended up to

(a) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab

{b) Ladakh, Jammu and Kashmir,
Punjab, Haryana

fc) Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan

fd) Ladakh, Jammu and Kashmur,
Himachal Pradesh, Punjab,
Haryana, Rajasthan

JNBY-D-GNL/59A
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92, Which one of the following statements
about the Solicitor General of India
(SGI) is not correct?

()

(b}

{c)

(d)

The SGI is the Government’s chief
legal advisor.

The SGl is the secondary law officer
of the country.

The post of the SGI is
a constitutional post.

The SGI is appointed by the
Appointments Committee of the
Cabinet.

93. Which one of the following committees
does not have members from the
Rajya Sabha?

(a)
{b)

(c)
{d)

The Public Accounts Committee

The Committee on Public
Undertakings

The Estimates Committee

The Committee on the Welfare of
Scheduled Castes and Scheduled
Tribes

94. Which one of the following statements
about the election of the President of
India is not correct?

fa)

(b)

fc

(d)

A Union Minister shall not be
eligible for election as the
President.

The President is elected by the
elected members of the Parliament
and the Legislative Assemblies of
States and Union Territories.

The Electoral College does not
include elected members of the
Legislative Councils.

The system of proportional
representation by means of single
transferable vote is followed.

[ P.T.O.




95, Ariera AfufEm, 1955 e afa =t 71 3% 98. d[dl a1 el WA CE § us U TR o9

arg e % Pl & wafim 27 L RO IO S S N S——
{a) 26 FH, 1950 mﬁmﬁaﬁ@%wwm

(b) 26 TEH, 1949

(¢] 15 ATH, 1947 (a) TAAM (Ennayiram)

(d) 14 3T, 1947 (b) IREE (Uttaramerur)

96. Hif (NITI) s g0 Fiffa T ag-smmh () feamTem (Siyyamangalam)
sl gEFE (MPl) # e, fedt ofEm
(household) &1 I WM 9T &, afe (d) FZEWETE (Kudumiyamalai)

1. 9@ (household) F o g
TEEM Heq-qifid (undernourished) F

wq & 4 ot R 99. EREdl WA ¥ W@ F wed #, T
2. 15 9 sl 49 =4 & 9 A Wy (Dastak)’ 1 7

o) wften we=r #1 W 709R g

(body mass index) 185 kg/m? @ (a) TEER

Eh

LG

413 foe T g2 1 WM R A T R M
fa) Fae ] (c) wyaEm TR
(b) FaA 2

(d) T (textiles) W T
fc) 13 22

(@) 3|12
100. fimfafaa % 3 #F-w, gom: ‘=i’ v A

97. ‘TgTeEll [Rayagajakesaﬁ]‘ 3 Tag o7

‘TRNFEQ  (Dayagajakesari) # IqiitEl

Frafafigs 8 | frg vsaw @ gag o7 {a) T8 IR

(a) FTHAE -

(b} TawmTR

(c) TgfA (c) TEEFE (officials) T YT

@ e (@) T
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95. The Citizenship Act, 1955 deals with the

determination of citizenship on or after
faj 26th January, 1950
(b) 26th November, 1949

{c) 15th August, 1947

98. Name the location of the musical

inscription containing groups of musical
notes arranged for the benefit of his
pupils by a king in the seventh or eighth
century CE.

{a) Ennayiram

(d) 14th August, 1947
(b} Uttaramerur

96. According to the National Multi-
dimensional Poverty Index (MPI)
constructed by the NITI Aayog,
a household is considered deprived if

fc) Siyyamangalam

(d) Kudumiyamalai

1. a single member of the household
15 1dentified as under-nourished
99. In the context of eighteenth century

2. the body mass index of a woman India. what was ‘Dastak™

member, between 15  vyears

and 49 years of age, is below .
18:5 kg/m? faj Signature

Select the correct answer using the code

) bel {b) Land document
given below.

(@) 1 only [¢) Trade permit

(b) 2 only
fd} Tax on textiles

) Both 1 and 2

fd) Neither 1 nor 2

100. Which one of the following was primarily

associated with ‘Dadni’ system?
97. The titles of ‘Rayagajakesari’ and

‘Dayagajakesari’ were associated with

which one of the following dynasties? (a) Textile production

(a) Kakatiya {b) Warfare

(b} Vijayanagara

© Gas ) {c) Payment to officials
c) ajapati

{d] Rashtrakuta (d] Revenue collection
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101. FOHEE [AEF a % 4r 4 fpfatan
FyA1 T faer fifsw

1. g2 o 4 % w2 w o R

2. FATEG WO ¥ Ha9w wEel i fiEd
A CE & o/ ¥ & waha 2

3. %@ wd W g wE A ufen e
ot

I § A FR-A FH GE
(@) Fad 1 3N 2
(b) e 2 ¥ 3
{c) Faw 133

(d) 1,233

102. waramE! * 1§ fafafan § 8 R w99
@ 27
|, SaEgEl # WEed (strength) F

wagEl faeRd gEsE  (Volcanic
Explosive Index) A 7rq T R

2. g v frefda, seemqEl e
(volcanic activity) 8 FifHa T o

3. g il 39, TR sl I A
£ a9 7 e N w2

3 fo T g2 w W W ER IR G
fa) Fad 1 37 2
(b) Faa 2 3N 3
(c) Fae 1 ¥R 3

[d 1,233
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103. ¥9 ¥ U WEN % fAeAfafEa s m

ﬁﬁﬂﬁﬁﬂ'
1. A Hae 4 fafda & 2

2. AR WY W UEHE WEN R WM,
BTe 3 fasell #9300 #1921

3. A 9@ germfl F sER A FEE,
RECER L] (anvil tops)‘ I T R

EIRIERTHLGIE I e b e R Ca e AR |
il

(a) T0 FIH ¥ (Stratocumulus)
(b) FITE FH ¥ (Cumulonimbus)
fc} T FAHET B9 (Cirrocumulus)

(d} YAt B9 (Nimbostratus)

104. H M @ g W wen G @ tE fEe

Farall ) gen Ay i wEm # ) wa F
foau fiefafes # @ F-m w@lE 9w
Fm?

(a) 97 AR (Pie chart)

(b) WM TTF (Scatter graph)

(c) @3 A1 (Bar chart)

(d) TFiE W% (Triangular graph)
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101. Consider the following statements about

Kanaganahalli archaeoclogical site :

1. 1t is situated on the bank of Bhima
river,

2. The remains of the Kanaganahalli
Stupa can be dated between
Ist and 3rd centuries CE.

3. Emperor Ashoka’s image was found
at the site.

Which of the statements given above are
correct?

fa} 1 and 2 only
(b) 2 and 3 only
fe) 1 and 3 only
fd 1,2 and 3

102. Which of the following statements about

volcanoes are correct?

1. The strength of a volcano
1Is measured by the Volcanic
Explosive Index.

2. Iceland and Philippines were
created by volcanic activity.

3. Volcanic soils are rich, deep
and fertile and allow intensive
agriculture to take place.

Select the correct answer using the code
given below.

fa} 1 and 2 only
() 2 and 3 only
{cj 1 and 3 only
(dj 1,2 and 3

JNBY-D-GNL/59A

103. Consider the following characteristics of

a cloud type :

1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliflower-shaped
towers, often ‘anvil tops’.

Identify the type of cloud on the basis
of the given characteristics.

fa) Stratocumulus

{b) Cumulonimbus

(c) Cirrocumulus

(d} Nimbostratus

104. Meena wants to show diagrammatically

how two sets of data, namely,
population size and number of services
are related to each other, Which one of
the following will be the most suitable
for the presentation?

(@) Pie chart

(b} Scatter graph

(c) Bar chart

(d) Triangular graph

[P.T.O.
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105. Ffafgn smdm =gt # A vt weg o f 108. ¥ fhan Aify, 2020 | d&Eftm Fefafas

T2t ¢ i T fraw Hifi

afrag 1. @ 2025 7% @A dn I=E e
“ TRl % WMeAH ¥ FH-Y-FH 50 WA
(b) TRE ferenie =) syt fian € o)
(c) HENY 2. mﬂlﬁ‘lﬁ ﬁmﬁq, 3o o 3o,

uieRfFEs o wrfm @ % Wy
(d) 3Ty 92w HEm w |

3. s e faem =5 3 e

106, Frfifian ol # & FH-w1/99-3 78 357 Al (NGOs) &1 5aR i st

1. favmErTm T T - 99 ) I FA § B P /FR-Q G960 B8
2. EEATE YO TH SERE N B

R
fr g T gz @ @ = w3 g @ 1
(a) @A 1 fb) Fad 1 v 2
(b) i 2 (c} Faw 2 3 3
(e) 1323

{d) 1,23

(d 7D 13TA 2

107. 3 2011 3R 2021 ¥ 99 Y ¥ TR 109. fifd (NITI) 3 ¥ smEn, Fefafew § @
87 % 3fe g€ ¥ wrf, s omfy & A T F1 FH-H1 W, W9 o Eo SHo Wi
WA % forw aar=etien & 3 wd) oft g€ &7 IHF, 2020-2021 (Composite SDG

India Index, 2020-2021) & g=9 = 27
(@) A TR T [70 yawE ¥ ife fam na Index ]

U9l (canopy density)] a) wEm -

(b) WM A T (40-70 W@ & g

e ) (b) I WY, FrEe, fwEn
e QA I (1020 ¥hwa & =9 f@m
) fc) I weW, fagnr, amw
(d) (b) 3R (c) 3 (d) 3Nfem, faem, s
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105. Which one of the following Indian States 108.
has the longest coastline?

fa) Tamil Nadu
(b} Gujarat
{c) Maharashtra

{d) Andhra Pradesh

106. Which of the following statements is/are
correct?

1. Visakhapatnam Port is a land-
locked harbour.

2. Deendayal Port is a tidal port.

Select the correct answer using the code
given below.

faj 1 only
(b} 2 only
fe) Both 1 and 2

{d] Neither 1 nor 2

107. There is an increase in forest cover area
of India between 2011 and 2021.
However, there is a decrease in forest
cover area of India during the same
period in

fa) very dense forest (canopy density of
more than 70 percent)

(b} moderately dense forest (canopy
density between 40-70 percent)

{c/ open forest (canopy density
between 10-20 percent)

(d) Both (b) and (¢

JNBY-D-GNL/59A 39

Consider the following statements

concerning the National Education
Policy, 2020 :

1. At least 50 percent of the learners
through  school and  higher
education system to get exposure
to vocational education by 2025.

2. Secondary schools should
collaborate with ITIs, Polytechnics
and local industries.

3. Vocational education to be
exclusively provided by NGOs.

Which of the statements given above
is/are correct? https:/www.pyqonline.com

{a) 1 only
(bj 1 and 2 only
fc) 2 and 3 only

(d) 1,2 and 3

109. Which of the following sets of States

is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

fa) Assam, Jharkhand, Bihar
fb) Uttar Pradesh, Jharkhand, Bihar
fej Uttar Pradesh, Bihar, Assam

fd) Odisha, Bihar, Jharkhand

[ P.T.O.
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110. T=fafas & & FR-W, vd + FHEUR F

Fede 51 F W TE 27

fa) adE wia i gen F FgE o

() TE F dfiw AEET e wHEY dEdl
F FA WAl

(c) watgm fael % @mym % fag UN
ife T 1 TEm

(d) MURYY 3N AquEE fFER % fer %
fere, Wearfea F

111, 7 8 9, pe-Frig stidem (NAM) & fasm

| (formative phase) ¥ F3A ?rg'a i
it 4t ot

(@) M TR (Kwame Nkrumah)

(b) A =d AW (Gamal Abdel
Nasser)

(c) VATREATEA &

(d) Thed FT& (Fidel Castro)

JNBY-D-GNL/59A

112, Sgert & gay §, fefafea § 4 #9-8 @

TE &
1. o 7 Ya% 3R B 91

2. 38 T-TEm FE uRan gm R
T <t o)

3. 3 q‘ﬂﬁ"ﬁ‘l T&4 (Deccan) an HENg |
ol

IR Ry T 52 # W@ W 7 I gAY
(@) Fa 1 3R 2
(b) Faa 2 3 3
(c) ¥am 133
(d) 1,233

113. Hegwra 3, firen § s wftyg ) afeemi

FY A WYATGRA A el G0 IEe JEE
= E A Y

() ¥ @E
(b) <TE TERM
(c) @IS A
(d) fTafeam dfés

114. T8 F FHEHT a1 % Mad & 9) ¥ JHg

Fia), 7g e F1 TEE T | B 7
(a) AT G

(b) HA TR

fc) e T3

(@ G uE
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110. Which one of the following is not a part 112, In respect to Balutedars, which of the
of Article 51 of the Constitution of statements given below are correct?

ia?
India* 1. They were village servants and

artisans.

2. They were employed by individual

fa) Promote international peace and peasant family.

security
3. They existed in the Medieval
Deccan and Maharashtra.
(b) Maintain just and honourable Select the correct answer using the code
relations between nations given below,
fa) 1 and 2 only
fcj Use of UN peacekeeping force for (b) 2 and 3 only

resolution of international disputes () 1and 3 only

(d) 1,2 and 3

{d) Encourage settlement of inter-
national disputes by arbitration
113. Which one of the following Viceroys was

the first to officially shift his Council
to Simla in summer season?

(a) John Lawrence

111. Who among the following was not in (b) Lord Dalhousie
the core leadership of the Non-Aligned (c) Lord Mayo

Movement (NAM) in its formative phase?
(d} William Bentinck

{a} Kwame Nkrumah

114, Who among the following is the author
of Maze Vidyapeeth, the famous poem
about the life of working class of

(b} Gamal Abdel Nasser Bombay?

fa} Narayan Surve
[c) Jawaharlal Nehru {b) Amol Palekar
fc) Bhalchandra Nemade

(d) Fidel Castro {d) Narendra Jadhav
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115. 74 & e 109 AR d feg wi v 6 119. ¥ ¥ & ‘vl wwdw  (Payyoli

g & efi? Express) & 90 § 1 9@ 27
(a) TUTFE 29 .
(b) TR AR ™ fa) TRl <
(c) FRFEY &R (b) T =
(d) FE T3 8
fcj o do M
116. 3 14, 2021 1 94 TP HEMT THI SAMIFR
fFu M wFew § @ 2023 # feEy R (d) TR SraTEw
ATy @4 59 1 Fofa fermn mn?

() wurof fFm % fou dfas fam

(Basic Sciences)

120. wfed sl R, 2022 % femsd A
wafud gel-1 #1 gh-1 F e gaferm Hifm
o) s % 3 o Mg v AR
fc) TR (Millets) I A :
{d} $2 (Camelids)

-1 -1

117. #ifd® #awm, fsed 1cC 79 T20 fagem, (7= =1 9 3R faun) (Fra=®)

2022 H AMAR 9 gwem (RfeF) gwm A R,

fra 2 = wfefifre = &7 A o & (FEE-ER) 1w
(o) T B. gns?%wa(aﬁm- 2. dom 7w
(b) WY 3a ST o
P e C. 2 #v% (MF-Te) 3. =& Tam
(d) i D. g ¥ (TF) 4. TN FUR MRandh
118, FET FqFET (Wassenaar Arrangement) % R
wqy § fiafafes # @ #9-w w99 wd @ @@ A B C D
27 1 2 3 4
(a) 78 FHazn § 42 wfavmfl 2w i 4
() A B C D
(b) TEH Ted FegA: TH WA EEn 1 3 2 4
e (nuclear weapon overseer) E?
w9 | = g ) A B C D
(c) WA T8 e F SHqH ey B v 2
(d) Y@ @ sgEEn ¥ 9§ 2017 § Wi d A B C D
g3 4 2 3 1
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115. Who among the following founded 119. Who among the following is known as
the Hindu Dharma Sabha in the ‘Payyoli Express”™?
19th century?

{a) Radhakanta Deb
(b) Ram Mohan Roy (b) Dutee Chand

{a) Hima Das

(c/ Dwarkanath Tagore
{d) Keshab Chandra Sen

fej P.T. Usha

(d) Shiny Abraham
116. The resolution adopted by the United
Nations General Assembly on 3 March,
2021 decided to celebrate the year 2023

as the International Year of 120. Match List-I with List-II relating to

Sahitya Akademi Award Winners, 2022

fa) Basic Sciences for Sustainable and select the correct answer using the
Development code given below the Lists :
{b) Glass
(c) Millets List-1 List-IT
(Title and Genre) {Author)
(d} Camelids
A. Bhool Satya (Short 1. Kamal Ranga
117. Karthik Meiyappan, who secured Stories)
hat-trick in the ICC Men's T20 World
Cup, 2022, represents B. Tumadi Ke Shabd 2. Veena Gupta
| (Poetry)
fa) Zimbabwe
(b) United Arab Emirates C. Chhe Roopak (Drama) 3. Badri Narayan
fc) Sri Lanka D. Alekhun Amba (Play) 4. Manoj Kumar
(d) Namibia Goswami
118. Which one of the following statements Code :
about the Wassenaar Arrangement is
not correct? fa) A B C D
1 2 3 4

faj There are 42 participating nations

in the Arrangement. () A~ B C D

{b) It is formed primarily as a nuclear 1 3 2 4
weapon overscer,
fc} A

s
T
v

fc) India is the current Chairman of
the Arrangement.

{d) India joined the Arrangement in fd} A B cC D
the year 2017, 4 2 3 1
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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item,

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

. Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(ii1) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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